
Subject: Re: Detector materials with radiation length not equal to zero
Posted by Mohammad Al-Turany on Fri, 16 Mar 2012 11:36:20 GMT
View Forum Message <> Reply to Message

Hallo Raghav,

There was a change in the base classes for the stack in the last few months which we forget to
propagate to the examples! Sorry for that. Due to this your stack was empty all the time and
Geant did not have anything to propagate, So Geant3 was producing an empty tree as you
seen, and Geant4 was telling at least that he has nothing to transport! This change was done
for all experiments but not in the tutorials. Now it is corrected andy should work. Just update
the fairbase.

Cheers,
Mohammad
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